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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections
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v2 3.7
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X 4 37

Question ID : 6913521202
Option 1 ID : 6913524808
Option 2 ID : 6913524807
Option 3 ID : 6913524806
Option 4 ID : 6913524805
Status : Answered
Chosen Option: 2
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Ans X1.320 m
X2032m
<332 m
v 432 m

Question ID : 6913521272
Option 11D : 6913525088
Option 2 ID : 6913525087
Option 3 ID : 6913525085
Option 4 ID : 6913525086
Status : Answered
Chosen Option : 4
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Ans
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< 1. FeO

X 2 FesOq
' 2 Fes04
X 4 FeqQy

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

6913521256
6913525024
6913525022
6913525021
6913525023
Answered

3
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Ans of'1.1.6
X2 2
X308
X412
Question ID : 6913521215
Option 11D : 6913524860
Option 2 ID : 6913524857
Option 3 ID : 6913524858
Option 4 ID : 6913524859
Status : Answered
Chosen Option : 4
Q.5 2 2 2 2
I (x+y):(x—y)=51 & ar :C+y2:(x2—y?)=?
ans X1 16:1
X 2 25:9
V'3 135
X 4 8:17
Question ID : 6913521207
Option 11D : 6913524828
Option 2 ID : 6913524825
Option 3 ID : 6913524826
Option 4 ID : 6913524827
Status : Not Answered
Chosen Option : --
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
: Answered
Chosen Option :

6913521228
6913524912
6913524909
6913524910
6913524911
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M aig gewie
X 2 ad

X 3 e

X4 TqH FT geereT

Question ID :
Option 11D
Option 21D :
Option 31D :
Option 41D :
: Not Answered
Chosen Option :

6913521266

1 6913525062

6913525063
6913525061
6913525064
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Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

1 6913521235
: 6913524939
: 6913524940
: 6913524937
: 6913524938
: Answered

Chosen Option :

3
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Ans X 1. 51420618
X 2 51520518
X 3 51520618
v 4 51420518

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6913521229
6913524914
6913524915
6913524916
6913524913
Answered
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6913521254
6913525016
6913525015
6913525013
6913525014
Answered

3
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Question ID : 6913521205
Option 11D : 6913524817
Option 2 ID : 6913524820
Option 31D : 6913524818
Option 4 ID : 6913524819
Status : Answered

Chosen Option: 3

Ans X1 F 7337
X 2 F 7800
X 3 F 7300
v F 7387
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6913521211
6913524841
6913524844
6913524843
6913524842
Not Attempted and Marked For Review
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Ans K119
V217
X318
X416

Question ID : 6913521251
Option 1 ID : 6913525004
Option 2 ID : 6913525002
Option 31D : 6913525003
Option 4 ID : 6913525001
Status : Answered

Chosen Option : 4
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Question ID
Option 1 ID
Option 2 ID
Option 31D
Option 4 ID
Status

Chosen Option

16913521271
16913525081
1 6913525084
1 6913525083

1 6913525082
: Answered
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6913521278
6913525109
6913525111
6913525112
6913525110
Answered

1
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Ans X113 :6: 10
X293 613
X313 :60: 13
v+ 39:30:65

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6913521212
6913524848
6913524845
6913524847
6913524846
Answered

4
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[ Question ID : 6913521274




Option 1 ID : 6913525094
Option 2 ID : 6913525095
Option 3 1D : 6913525093
Option 4 ID : 6913525096
Status : Answered
Chosen Option: 2
Q{; i “LAME” # JYKC & &7 & Fiz B Smar &, & “MINE” & 50 = & F3 Bmr smee?
Ans 1. KJGC
X 2 KHGC
v 2 KGLC
< 4 KLGC
Question ID : 6913521231
Option 11D : 6913524924
Option 2 ID : 6913524923
Option 3 ID : 6913524921
Option 4 ID : 6913524922
Status : Answered
Chosen Option : 2
Q.1 The size of the image formed by a converging mirror when object is placed at principal focus is .
9
Ans 2 1. of the same size
/< 2. point image
« 3 highly magnified
# 4 diminished
Question ID : 6913521273
Option 11D : 6913525092
Option 2 ID : 6913525090
Option 3 ID : 6913525091
Option 4 ID : 6913525089
Status : Answered
Chosen Option: 3
Q.2 3 1125 1 9= 7T ¥ v ¥y S W T 27 T A 9oF 21T & TUROT ST $r I 23
e 2efr?
Ans o 1. 9.6%
X2 7.2%
X3 24%
X 4 12%
Question ID : 6913521210
Option 11D : 6913524839
Option 2 ID : 6913524838
Option 3 ID : 6913524837
Option 4 ID : 6913524840
Status : Answered
Chosen Option : 1
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Question ID :

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6913521208
6913524829
6913524830
6913524832
6913524831
Not Answered

5= F fhae 98 weEn
Ans J1_ 14
X210
X312
X416

Q2 Ig v T A B3R C U5 ST &1 6 U2 F o7 U5 &1 2 O¢ I% UF T &4 54 & 9 C
2 s AT A R F FEs AT A AT B 7 O & 5 wed §1 T 9T C o@nT S &

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

6913521217
6913524867
6913524865
6913524866
6913524868
Answered

1
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Ans X1 Ge
X 2 As
Vs P
X 4 Si
Question ID : 6913521263
Option 1 1D : 6913525050
Option 2 ID : 6913525052
Option 3 ID : 6913525051
Option 4 ID : 6913525049
Status : Answered
Chosen Option: 3
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Chosen Option :

ans X1 40
X220
<3 80
v 4 60
Question ID : 6913521241
Option 1 ID : 6913524962
Option 2 ID : 6913524961
Option 3 ID : 6913524964
Option 4 ID : 6913524963
Status : Answered
Chosen Option : 4
Q.2 i B
s [ A ¥ AR I
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W23 10 1 s Q17
ans X1 D
X2cC
V3B
X4 A
Question ID : 6913521249
Option 11D : 6913524995
Option 2 ID : 6913524996
Option 31D : 6913524994
Option 4 1D : 6913524993
Status : Answered
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Ans x 1 ja g
X2 @
v 3 s
X 4 srier
Question ID : 6913521227
Option 1 ID : 6913524905
Option 2 ID : 6913524906
Option 3 ID : 6913524908
Option 4 ID : 6913524907
Status : Answered
Chosen Option: 3
92 A galvanometer is used to:
Ans 5 1. detect the direction of magnetic induction
/< 2. detect the direction of sound
/< 3. detect the direction of light
W 4 detect the direction of current
Question ID : 6913521267
Option 1 ID : 6913525068
Option 2 ID : 6913525065
Option 3 ID : 6913525066
Option 4 ID : 6913525067
Status : Answered
Chosen Option : 4
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Question ID : 6913521243
Option 1 ID : 6913524970
Option 2 ID : 6913524971
Option 31D : 6913524972
Option 4 ID : 6913524969
Status : Answered
Chosen Option : 1
Qé2 Sgeat & Fffeor % e, g # ufde et & e eie @ifde w3 s g
Ans x
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K3 ooy
X 4 FHdh
Question ID : 6913521280
Option 11D : 6913525118
Option 2 ID : 6913525117
Option 3 ID : 6913525120
Option 4 ID : 6913525119
Status : Not Answered
Chosen Option : --
Q.3
o a8 &I T
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Ans x 1. D
X<2B
v C
X4 A
Question ID : 6913521247
Option 11D : 6913524988
Option 2 ID : 6913524986
Option 31D : 6913524987
Option 4 ID : 6913524985
Status : Answered
Chosen Option : 3
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6913521233
6913524931
6913524932
6913524929
6913524930
Answered

3
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Ans 35
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3
31
X2 2
3
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Question ID :
Option 1 ID
Option 21D :
Option 3 ID
Option 4 ID
Status :
Chosen Option :

6913521223

1 6913524892

6913524889

16913524891
1 6913524890

Answered
3
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Question ID : 6913521279
Option 11D : 6913525113
Option 2 ID : 6913525114




Option 31D : 6913525115
Option 4 ID : 6913525116
Status : Answered
Chosen Option: 2
Q.3 Ify oF FeaF $EE F AT TF TAHH HES F THAN F T@T §, A1 3eTh SAFA F HFAA FAT
4 317,1-9
Ans 1.12:11
X27:11
X3 6:11
v 414 ;11
Question ID : 6913521216
Option 11D : 6913524863
Option 2 ID : 6913524861
Option 31D : 6913524862
Option 4 ID : 6913524864
Status : Answered
Chosen Option : 4
Q.3 N .
5 ‘H?Iglz T T FEATTH i AT?
Ans 1 1 ﬁ *
X 2 AIEFRT 29 wUH
X g
X 4 g
Question ID : 6913521295
Option 11D : 6913525179
Option 2 ID : 6913525177
Option 31D : 6913525180
Option 4 ID : 6913525178
Status : Answered
Chosen Option : 2
Q.3 < & fow g T Afger gffEt (EWRs) F e frw S dwem & wogear wfiemr sews
6 & amarma #2
Ans x 1. s .,I, i
X 2 T35 AT
V' & F\fger T @t e J9e T
X 4 FEpla FIe
Question ID : 6913521292
Option 11D : 6913525165
Option 2 ID : 6913525168
Option 31D : 6913525167
Option 4 ID : 6913525166
Status : Answered

Chosen Option : 3
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Question ID : 6913521268
Option 11D : 6913525071
Option 2 ID : 6913525072
Option 3 ID : 6913525069
Option 4 ID : 6913525070
Status : Answered
Chosen Option : 2
0{;3 FeagAr # Pud FEW T57 99 o AT __ HEie Al F 36 Har 8
Ans1.400
2. 360
3. 480
4. 380
Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
Question ID : 6913521261
Option 11D : 6913525043
Option 2 ID : 6913525041
Option 3 ID : 6913525044
Option 4 ID : 6913525042
Status : Not Answered
Chosen Option : --
Q.3 H . .
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), 18,25 37 2
as X 1. 50
K 2 45
V'3 52
X4 42
Question ID : 6913521236
Option 1 ID : 6913524942
Option 2 ID : 6913524941
Option 31D : 6913524943
Option 4 ID : 6913524944
Status : Answered
Chosen Option : 4
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Note: For this question, discrepancy is found in question/answer. So, This question is ignored

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6913521253
6913525010
6913525009
6913525012
6913525011
Answered

1
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

6913521275
6913525097
6913525100
6913525099
6913525098
Answered

Chosen Option: 1
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

6913521234
6913524934
6913524933
6913524936
6913524935
Answered

3
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

6913521293
6913525172
6913525171
6913525169
6913525170
Answered

2

Q4




SfF MN @1 TR g0l 3GT 9l §, df M9 3 &1 gyl
PIRICERCCT

'

eI

A B c D
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X2D
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Question ID : 6913521255
Option 11D : 6913525017
Option 2 ID : 6913525020
Option 31D : 6913525018
Option 4 ID : 6913525019
Status : Answered
Chosen Option : 3
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Departure

11:00amto 12:00 pm
10:00am to 11:00 am
S:00am to 10:00am
&:00am to 9:00am B Departure

7:00amto :00am

6:00amto 7:00am

a 0.5 1 P ] 2 25 3 35 4 4.5

Ane X 1.8:00 am & 9:00 am
X 2 9:00 am & 10:00 am
V'3 6:00 am ¥ 7:00 am
X 4 7:00 am & 8:00 am

Question ID : 6913521240
Option 1 ID : 6913524957




Option2 1D :
Option 31D :
Option 41D :
Status

Chosen Option

6913524959
6913524960
6913524958
: Answered
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Ans (1_ C
X2 5y & of gresiee ae A4 8
X3B
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Question ID : 6913521264

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6913525055
6913525056
6913525054
6913525053
Answered

1

% zm smer $r 3eTEr FEar AT
14, 42, 126, .

Ans X'1. 376

v 2 378

X 3. 370

X 4 375

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

6913521238
6913524951
6913524950
6913524952
6913524949
Answered

1
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

6913521288
6913525151
6913525150
6913525149
6913525152




Status : Answered
Chosen Option : 1

@4 Which actor’s autobiography is titled as ‘Khullam Khulla*?
Ans o 1. Rishi Kapoor

/< 2. Ranbir Kapoor

/< 3. Raj Kapoor

/< 4 Rajiv Kapoor

Question ID : 6913521285
Option 11D : 6913525140
Option 2 ID : 6913525138
Option 31D : 6913525137
Option 4 ID : 6913525139
Status : Answered
Chosen Option: 1

L FT T AT 3w T F 9 F EE9 F A8 RE & gar &7
A)FT
B)areR

C)3ToE
Ans
-© @

Question ID : 6913521250
Option 11D : 6913524999
Option 2 ID : 6913524998
Option 31D : 6913524997
Option 4 ID : 6913525000
Status : Answered
Chosen Option : 3

01-5 The sum of the first 2007 terms of the sequence 1, 2, 3.4, 1, 2, 3. 4, is:

Ans X' 1. 5013
v 2 5016




< 35020

X 4 5107
Question ID : 6913521221
Option 11D : 6913524882
Option 2 ID : 6913524881
Option 3 1D : 6913524883
Option 4 ID : 6913524884
Status : Answered
Chosen Option : 2
Q.5 fw aw Fuet 7 frewst F1 comEs 9k 9 & wia @ T oS w7 @ w1 sgme s
2 3
HYA:
o T R A
o Tfr e F-smEmEr g #)
fors:
1. @it framms s 2
2. Tl i Anw
Ans : :
X1 g s 3egEIor U g
v o #% ey sater 7E e §
X o Fao sy 1 3HFEI0T HAT §
X 4 Fad AT 2 IFEIT FLT
Question ID : 6913521230
Option 11D : 6913524918
Option 2 ID : 6913524920
Option 3 ID : 6913524919
Option 4 ID : 6913524917
Status : Answered
Chosen Option : 2
Qé5 e aa s e = 3T # wEfeT IBSF T Rfowdy AfPqa=famg 2017 e &
Ans '
X1 s enfew
X 2 G TS
V'3 Omer TEaTof
X4 g B9
Question ID : 6913521289
Option 11D : 6913525154
Option 2 ID : 6913525156
Option 3 1D : 6913525155
Option 4 ID : 6913525153
Status : Not Answered
Chosen Option : --
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Ans x 1.0
X2B
X3 A
v 4D
Question ID : 6913521244
Option 1 ID : 6913524975
Option 2 ID : 6913524974
Option 31D : 6913524973
Option 4 ID : 6913524976
Status : Answered
Chosen Option : 4
Qés Sany fud Sad W qFd FIEA, ASASA 3T TR & HFHEE Fgad 2
K ffeer sifres
v 2 FFET HFESE
X 3. IguAT HTeEEE
X 4 HA ATFHSS
Question ID : 6913521262
Option 11D : 6913525048
Option 2 ID : 6913525047
Option 31D : 6913525046
Option 4 ID : 6913525045
Status : Answered
Chosen Option : 2
Q.5 7 F=e% 2017 TR FEHF AR sy HR e & (@@ F oees e F e d
6 frafafes # ¥ fF e fer
Ans x
1. 9. THFSUTA
X2 g . o
X 3 AT erAeIA
v 4 gT Fiftes
Question ID : 6913521299
Option 11D : 6913525195
Option 2 ID : 6913525193
Option 31D : 6913525194
Option 4 1D : 6913525196
Status : Not Answered




Chosen Option : --

%5 552-232+0.8>x0.12+0.4*-3.14="
Ans X 1. 0.51

X2 —0.63
V'3 —0.51
X 4 0.42

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

1 6913521206
1 6913524821
1 6913524823
1 6913524822
1 6913524824

Status :
Chosen Option :

Not Answered

100300005,2000400000,300040008,
400000600000008

Ans  of 1. 300040006

# 2. 2000400000

# 3100300005

X 4 400000600000008

Q.5 e et #1 SEen # F5 U FAGEN 5F A4 8, 36 Tod GEl H et # § T4 Hifew

Chosen Option

Question ID : 6913521239
Option 11D : 6913524953
Option 2 ID : 6913524955
Option 3 ID : 6913524956
Option 4 ID : 6913524954
Status : Answered
Chosen Option : 1
Q.5 = AT FF 6% T W AT S E A 3§ 6% @ W FES F g A 2 870 fvw G F
9 AT B F FT- T5 R
Ans of 1. 37250
X 2 6265
< 377000
< 4 26000
Question ID : 6913521209
Option 11D : 6913524833
Option 2 ID : 6913524835
Option 31D : 6913524834
Option 4 ID : 6913524836
Status : Answered

01

U sieeT & Sigsg & gger Afyer Wi P A

Ans




X . BaEr . g
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Question ID : 6913521298
Option 11D : 6913525192
Option 2 ID : 6913525189
Option 31D : 6913525190
Option 4 ID : 6913525191

Status : Not Answered
Chosen Option : --
e never occurs singly in nature.

Ans  of 1. Force
/< 2. Pressure
/< 3. Momentum

/< 4 Velocity

Question ID : 6913521258
Option 11D : 6913525031
Option 2 ID : 6913525032
Option 31D : 6913525029
Option 4 1D : 6913525030
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Option 1 ID : 6913524925
Option 2 ID : 6913524927
Option 3 ID : 6913524926
Option 4 ID : 6913524928
Status : Answered
Chosen Option : 1
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X2 45°
X3 30°
X 4 105°
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Question ID : 6913521222
Option 1 1D : 6913524887
Option 2 ID : 6913524886
Option 31D : 6913524885
Option 4 ID : 6913524888
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Chosen Option: 1
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Option 11D : 6913525132
Option 2 ID : 6913525130
Option 31D : 6913525131
Option 4 ID : 6913525129
Status : Not Answered
Chosen Option : --
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Option 1 ID : 6913525025
Option 2 ID : 6913525028
Option 31D : 6913525026
Option 4 ID : 6913525027
Status : Answered
Chosen Option: 3
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Option 11D : 6913525136
Option 2 ID : 6913525133
Option 3 1D : 6913525135
Option 4 ID : 6913525134
Status : Not Answered
Chosen Option : --
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Option 1 ID : 6913524982
Option 2 ID : 6913524983
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Status : Answered
Chosen Option : 1
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Option 11D : 6913525160
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Option 31D : 6913525158
Option 4 ID : 6913525159
Status : Answered
Chosen Option: 2
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Question ID : 6913521214
Option 1 ID : 6913524855
Option 2 ID : 6913524856
Option 31D : 6913524853
Option 4 ID : 6913524854
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Chosen Option : 3
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Question ID : 6913521224
Option 11D : 6913524895
Option 2 1D : 6913524893
Option 31D : 6913524894
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Status : Answered
Chosen Option : 4
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Option 1 ID : 6913525077
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Chosen Option : 1
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Option 11D :
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Option 11D : 6913524874
Option 2 ID : 6913524876
Option 31D : 6913524873
Option 4 ID : 6913524875

Status : Answered
Chosen Option : 4
Q.7 A current of 0.5 A is maintained in a resistor of 10 Q. The amount of charge flowing throwing the resistor in one minute
4 s
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Question ID : 6913521265
Option 11D : 6913525059
Option 2 ID : 6913525057
Option 31D : 6913525058
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Question ID : 6913521276
Option 11D : 6913525104
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Q770 + 5 x (10 -8 + 2) + 3 =?
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Option 11D : 6913524816
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Option 11D : 6913525143
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Chosen Option : 4

Q.8 Two bones can be connected to each other by another type of connective tissue called the
3

Ans 1. Cartilage
« 2. Ligament
&< 3. Matrix
& 4 Tendons

Question ID : 6913521277
Option 11D : 6913525106
Option 2 ID : 6913525107
Option 31D : 6913525105
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Chosen Option : 2
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Chosen Option : 4
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Question ID : 6913521287
Option 11D : 6913525146
Option 2 ID : 6913525145
Option 31D : 6913525147
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Q%B The process where electricity is passed through 10% NaCl is called




/< 1. Bayers process

/< 2. Chlor-salt process

/< 3. Hall — Heroult process
« 4 Chlor-alkali process
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Option 11D : 6913525162
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Qf Which of the option figures bears the closest resemblance to the question figure?
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